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HP41 source program
ARAROM.txt

LBL 'ARAROM' ; Key: 11
FIXO0
'NOMBRE ?'
PROMPT
CLA
LBL 01
E3
X>Y?
GTO 00
>'M'
GTO 01
LBL 00
CLX
900
X<=Y?
>'CM'
X>Y?
CLX
500
X<=Y?
>'D!
X>Y?
CLX
400
X<=Y?
>'CD!
X>Y?
CLX
LBL 02
E2
X>Y?
GTO 00
>'C!
GTO 02
LBL 00
CLX
90
X<=Y?
>'XC'
X>Y?
CLX
50
X<=Y?
>'L
X>Y?
CLX
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1B 12
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B1 00
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F2 7F 43
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40
X<=Y?
>'XL
X>Y?
CLX

LBL 03
10
X>Y?
GTO 00

>'X!
GTO 03
LBL 00
DSE X
X<=Y?
>'IX
X>Y?
CLX

X<=Y?
>\
X>Y?
CLX

X<=Y?
>'|V'
X>Y?
CLX

LBL 04

X>Y?
GTO 00

>

GTO 04
LBL 00
AVIEW
STOP
END

1410

46

F3 7F 58 4C
45

77

41

04

1110

45

B1 00
41

F2 7F 58
B4 00

01

9773

46

F3 7F 49 58
45

77

41

15

46

F2 7F 56
45

77

41

14

46

F3 7F 49 56
45

77

41

05

11

45

B1 00
41

F2 7F 49
B5 00

01

7E

84

C0 00 0D



PX41CX interface

Program : ARAROM

Row 1 (Lines 1-3)

Row 2 (Lines 3-7)

Row 3 (Lines 7-15)

Row 4 (Lines 15-21)

Row 5 (Lines 21-29)

Row 6 (Lines 29-38)

Row 7 (Lines 38-44)

Row 8 (Lines 44-54)

Row 9 (Lines 54-62)

Row 10 (Lines 63-70)

Row 11 (Lines 70-78)

Row 12 (Lines 79-88)

Row 13 (Lines 89-96)

Row 14 (Lines 96-96)

End of Bar Code - Total of 14 Rows



